8 | 7 | 6 | 5 v 4 3 1
NOTES: UNLESS OTHERWISE SPECIFIED | 5 [REVISED AND REDRAWR IOl PETER
& USE 3/16 INCH DIA #4 STANDOFFS OR SPACERS FOR MOUNTING. FOR SOLDER PIN CLEARANCE,
THE MODULE NEEDS .09 INCH MINIMUM DISTANCE BETWEEN THE MODULE PCB AND A PANEL ON
THE SOLDER SIDE. TO CLEAR THE RJ-45 CONNECTOR, THE MODULE NEEDS .55 INCH MINIMUM
DISTANCE BETWEEN THE MODULE PCB AND A MOTHERBOARD ON THE COMPONENT SIDE. USE
.22 INCH DIA INSULATING WASHERS AND #4 PAN HEAD SCREWS TO MOUNT STANDOFFS OR
SPACERS. APPLICATION EXAMPLE ON SHEET 2 SHOWS USE OF CABLE ON CONNECTOR JP1.
APPLICATION EXAMPLE ON SHEET 3 SHOWS USE OF MOTHERBOARD AND ALLOWS COMPONENT ~—— 1.110 MAX
HEIGHT OF .39 INCH UNDER THE MODULE. 900 100
625
RJ-45 JACK—\ + 008 224
) )
i J3 i U U '
) | i ]
| | 850 ) l N x
\ O O 1 MAX % I Q)
| |
| |
| |
I | 13 2.224 \\/
o® o|o O
1.850 537 _ AN i 2.010
+.008 MAX
1.450
1.650 PN
(M
Hoo
-
l\'\\ /U
S==7 — 16 POSITION
.100 X .100
) JP1 y/ HEADER JP1 &
P! 66656000 c . 5 5 5 oo o o 330
20 000000 0 = . D ooojoooojp ¢ ! !
A
200 — 068 MAX - g5 & 125
— 150 = =100 15 MAX - ' MTG HOLE A
~—— 800 ——— 100 — - .240
a0 COMPONENT SIDE
20 e 500 = R Couoneni OF MODULE
... |PROPRIETARY| ) o000 Vogoue o i s%
SOLDER SIDE : ~/ INFORMATION (858) 558-0293
o : "= *_INOT TO BE COPIED, USED, OR| "¢ CUSTOMER DRAWING
O F MO D U LE THIRD ANGLE PROJECTION | Giscioscd. il i e MODEL SBLoe 1001
*BL @ NETBURNER
CAD/CAM DRAWING| - e
o DO NOT MANUALLY| D 850430 D
= J.PETER 17JuL10 | REVISE OR UPDATE =73 [ SHEET 1 OF 3
8 | 7 | 6 5 4 4 3 | 2 | 1




8

| 7 | 6 | 5 v 4

NOTES (CONTD):

A IF KEYHOLE STANDOFF NOT USED, BOARD SHOULD BE

APPLICATION SAMPLE 1

HELD WHILE ENGAGING OR DISENGAGING CONNECTOR
TO AVOID BENDING THE MODULE.

CABLE AT JP1, MODULE MOUNTED ON METAL PANEL

A.O‘?O MIN —=— (=
MODULE OUTLINE ® 1 66+-888
(3 PLACES)
FOR RECOMENDED
- STANDOFF
S i JUF
@ | | I B
A I I 1.660 A
MAX 4-40 X .25 ——4-40 X .19 STANDOFF
. ! PAN HEAD SCREW CLINCHED ONTO
! ' 1.450 MCMASTER P/N METAL PANEL
91772A106 PEM P/N
! ! + SO-440-2-6
| | #4 INSULATING
WASHER, SMALL
MCMASTER P/N
| | 90295A059 /\ /2
—— OPTIONAL:
! ! r 1 /] .19 LONG KEYHOLE
16 SOCKET ] STANDOFF
244 340 100 X .100 — [ CLINCHED ONTO
!\ | MAX CONNECTOR = METAL PANEL
/| B 2 PEM P/N
Tt i SKC-6060-6
- 900 ~— 110 MAX
- 1.010 MAX —=
| 050 METAL PANEL
+.003 A
®.213" 104
FOR RECOMMENDED STANDOFF PROPRIETARY é) 5405 NORErOURE . STE 209
INFORMATION (858) 558-0293
NOT TO BE COPIED, USED, OR[ "™ CUSTOMER DRAWING
MO DULE S IDE D R T MODEL SBL2e-100IR
NETBURNER
OF METAL PANEL P R
DO NOT MANUALLY| B 850430 D
REVISE OR UPDATE o3 ST or
8 7 6 | 5 A 4 2 | 1




8

| 5

4 |

NOTES (CONTD):

A IF MOTHERBOARD COMPONENT HEIGHT EXCEEDS .39:
STANDOFFS SHOULD BE OF A MINIMUM LENGTH TO ACCOMMODATE THE HEIGHT
OF THE MOTHERBOARD COMPONENTS PLUS .17 (ASSUMING NO COMPONENTS ARE
INDER THE RJ-45 CONNECTOR).

MATING CONNECTORS OR SOCKETS SHOULD ACCOMMODATE THE APPROPRIATE RANGE OF

PIN INSERTION DEPTH. THE RANGE IS DEPENDENT ON STANDOFF LENGTH AND CONNECTOR HEIGHT.
ASSUMING THE TOTAL TOLERANCE FOR THESE DIMENSIONS IS +.010, THE MINIMUM PIN INSERTION
DEPTH WOULD BE { .31 + CONNECTOR HEIGHT - STANDOFF LENGTH }. THE MAXIMUM DEPTH WOULD

BE .05 GREATER THAN THE MINIMUM.

APPLICATION SAMPLE 2
MOTHERBOARD, .39 COMPONENT HEIGHT UNDER MODULE.

OUTLINE OF MODULE

~— .760 MAX —
~— .64 MAX —

L

~— .125 MAX

I I‘_| |_ i
i | @ .114 MTG HOLE
| I | (3 PLACES)
2.074
| | 4-40 X 31 4-40 X .31
1.860 ! ! PAN HEAD SCREW PAN HEAD SCREW
MAX MCMASTER P/N MCMAGSTER P/N
1.650 ! ! 91772A107 21 772A107
| | +
#4 INSULATING #4 INSULATING
' & HHm ey
| | MCMASTER P/N
- ——16 CKT.100 X .100
200 ELEVATED RECEPTACLE 90295A059 ?0295A059
. . SAMTEC ESQ-108-12-L-D
I : O ! OR, FOR MOTHERBOARDS -
/ GREATER THAN .063
! ! ! o o 0 olo o o ol| NOMINAL THICKNESS, !
! e ooolasoall] SAMTEC ESQ-108-38-L-D & i ]
MAX 4-40 STANDOFF |
. - LYN-TRON P/N
MAX T 3% AA6940-0440-0.562-00 - 39 MAX MOTHERBOARD
800 COMPONENT HEIGHT
‘ - 69 MAX =
910
MAX
PROPRIETARYT ) > "gtieganeriag
INFORMATION (s58) 538-0293
NOT TO BE COPIED, USED, OR| "¢ CUSTOMER DRAWING
COMPONENT SIDE
NETBURNER
OF MOTHERBOARD SHOWN CAD/CAM DRAWNG] BT T
DO NOT MANUALLY| B 850430 D
REVISE OR UPDATE (= o [ SHEET 3 OF 3
8 | 7 | 6 | 5 4 | 2 | 1




	Sheet 1
	Drawing View24
	Drawing View25
	Drawing View26
	Drawing View27

	Sheet2
	Drawing View28
	Drawing View29
	Drawing View38

	Sheet3
	Drawing View31
	Drawing View32


